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N.B. : (1) Questions Neo.1 i1s compulsory.
(2) Attempt any three questions from the remaining five @

(3) Figures to the right indicate full marks.
(4)  Assume suitable data, if required but mention it cle

©
I. Write short notes on any four : K: , 20

(a) Administrative approval

(b) UBRI equations e
(¢) Mass Haul Diagram and its importanc

(d) Freehold and Lease hold property

(e) Cross drainage works ,b
2. Determine an approximate cost of afresfdcertial building (R.C.C. framed 20

structure) located in Vashi, Navi Mui
(1) Earthwork excavation i
(1) Plain cement concret

(1) Brick masonry in

G RICE. work P e&o

and roof sla&\_

3. (a) Carry out the rat:@sls for 10
M 20 Re.C. concrete with 2% steel including formwork and

:¥) 1n foundation
O for sub-structure
¢ columns, plinth beam, chajjas, roof beams

L oh o de

(o call notice for the construction ot a Water treatment plant 10
18 estimated to cost 30 crores-and is to be completed in 20
lendar months.
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4. (a) Prepare an estimate for a residential building in the western
(R.C.C. framed structure)
(1) Plat area — 80m x 50m
(i) FS1—1.5

(i) Building is G +~ 6

(1v) Consider the foundation cost as 18% of super strugsare cost
(v) Allow 22% of building cost for all services %

(vi) Allow 2.5% of overall cost for consultant fees

(vil)

(b) Differentiate between :
(1) Security Deposit and Earnest Money D¢
(11) Day's work and Piece work @

(¢c) Work out the earthwork quantities in e
of 600 m.
The particulars are ;

Q.P. Code :

Consider 5.0% provision for contingencies @

b= 14

848402

suburbs of Mumba

¢

N\

ent and cutting for a length

(1) Formation width = 20m

(i) Side slopes in emhgnicf 2:1(H.V.) in cutting = 1.5: 1{H.V.)

(i) There is no trans g

(iv) Rising gradient M ipto 250 m chain age

(v) Rising gradienflofgl: 00 upto 600 m chain age
Chainage () .l S0 5 W | 250 | 300 | 350 | a0 | 450 [ 500 | 550 | e
R.L.of 1720] 17235] 172 1730 17265 | 17220 17050 [ 171.20] 17065 [170.35 |?um‘1?u.'ﬁ
Cround ' '
R.L.of . lma] = | [17590] - |
Formation | | | i | :

y dre shown in dotted lines).

3 metres clear span and 6 metres long. (In plan, top and bent up

TURN OVER

8

10



Ao " o) 12 Dol
QL EV Q.P. Code : 848402

H.a.f’-‘-Mﬂ
L XSy
u-vm Coam
Da.i J

: Bed Recm
W, 4-'31”#5‘-:*“ eEg Biges @

L

i I-A?ﬂi‘lm
b = O xelwm
= 1.5 % 1.5

g = el xS™

Ryc.C .5 > rooll TR ckniry ~
Q e

TURN OVER



B Cul Vil CB &S <

- o1 12 del4
QL EV Q.P. Code : 848402

b,  fean

.

h',l = |.5 % 15w
- “,.}_1 'ld F"s’m
":.:j ool T chnis ~

C.od3dm K“"J"‘*t'

' = 9"1}1"1"‘71
by D
ar L e,

co v
4 Sectiopd OFE A Papser
oL L
f-} I--I_
R.C.C |
i v I ’
(35w |

e |

;
\ A7
tnté::: —— Pl b b
fots e | i 230 X poori
5 v *t“k

¥

i , y L |=35..1u
e
Y, (b
T e .

d Wl
}‘—vd..‘hbl-lmhf 2
[%M‘Li. FL! t":‘a

Figure 1

TURN OVER



Ca

9.8 2014

Q.P. Code : 848402

ol

8cm

'hﬂ‘-lurSm

Figure 2

=
A

i
1
S

-
l.__-.T“l.._l I..-l..H.F...- -.l._-....“li.l .llhul_
4

]
] |

|

_ \ L H _

| = wm mlpm = w2y = - 1.Ir.lrl..-
‘.

: ) 00D %
.Fllll.l.l.ll.-l S S s R R R e e m

g L ay————

&

_

SHOWING ARRANGEMENT OF REINFOREMENT BARS
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